CHEMISTRY				NAME _________________________________________


WORKSHEET


GAS PROBLEMS:WATER DISPLACEMENT 			DATE  ______________








1.   What is the pressure of the gas in a gas measuring tube when the water level in the tube      is 147 mm. Hg higher than that outside the tube ?  The barometer reads 735 mm Hg and the temperature is 0 ( Centigrade.























Carbon dioxide is collected in a eudiometer by water displacement.  The water level inside the tube is 46 mm Hg higher than that outside the tube.  The temperature is 30 degrees C.  and the barometric pressure is 775 mm. Hg.  What is the pressure of the dry Carbon dioxide in the eudiometer ?




















The volume of a gas in a eudiometer is 30 milliliters. The mercury level inside the tube is 14 mm. Hg higher than that outside.  The barometer reading is 751 mm Hg and the temperature is 21 degrees Centigrade.  What will be the volume of the gas at STP ?


























A gas measuring tube contains 32.6 milliliters of air collected by water displacement at a temperature of 40 degrees centigrade.  The water level inside the eudiometer is 86 mm Hg higher than that outside. The barometer is at 775 mm Hg.  What is the volume of dry air at STP ?


























